54y MU
LOSED CENTER HYDRAULIC CYLINDER
SHEARBEIRE Y ) v & - / PEREFHI

an @ kd

- BHHU RE -2 I MEIVS - LAY BEE - nE5H

—+ Economical Model - Horizontal-Vertical Type Available
- Small size & Light weight < High Speed Rotation

- EEORETN - ATEBEETR /RSl - Stk
- X OKTESERETEYT M EBE  -5ERE

I
_<
o
e
>
cC
C
(@]
)]
<
C
Z
O
m
X1

|#GHE |

* o1& z[0l 3T = AEX|0f E8f
¥ Maximum turning speed is based onactual measurment,

Specifications /ATF&/ R/ AL &

Spec Aty Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
0;;;”3- ARG HAEAEZZ O|AE CHHE oy AR %3 KN(kgf)
Model&4l = mm mm Push 2= Pul o1= Push 2= Pull 1=
YAS-65 2AS06 65 15 330 300 122(1245) 112(1443)
YAS-80 2AS08 80 19 500 450 184(1877) 165(1684)
YAS-100 2AS10 105 20 865 795 318(3244) | 293(2989)
YAS-125 2AS12 130 25 132.5 123.0 488(4978) 453(4621)
YAS-150 2AS15 150 30 176.0 160.0 648(6610) 60.0(6120)
YAS-200 2AS20 205 35 330.0 306.0 121.6(12404) | 112.8(11505)
YAS-250 2AS25 250 60 490.2 457.7 179(18400) 169(17 200)
Spec. At | Max.operatingpressure | Maxpermissible speed Total leakage Weight GD? T G
410899 41088 B4 soaoly 53 Moment of inertia T
Model®Al kaf/ et r.pm(min ') £ /min kg N (kgh.ar )
YAS-65 408 6000 1.0 32 0.11(0011) CAS-04
YAS-80 408 6000 10 43 029(0.03) CAS-05
YAS-100 408 6000 1.0 53 049(0.05) CAS-06
YAS-125 408 6000 1.0 74 0.88(0.09) CAS-08,CAS-10
YAS- 150 408 5500 10 103 147(0.15) CAS-10,CAS-12
YAS-200 408 5500 1.0 195 362(0.37) CAS-15 0|44
YAS-250 408 2000 1.0 - - CAS-405063

Dimension/R~F/SEE/A+E

e B © D E F G L1 L2 L3 L4 L5 L6 | L7 max L7 min T T2
YAS-65 100 = 80 60 20 13 | 145 | 111 65 - | 1005| 30 45 30 | 6-M8X16 |M12XP1.75
YAS-80 110 | 90 65 25 17 | 145 | 111 65 - | 1005| 30 45 30 | 6-M8X16 | M16XP2.0

YAS-100 135 100 80 30 21 168 134 | 815 65 | 1235 35 45 25 | 6-M10X19 | M20XP2.5
YAS-125 160 130 110 35 25 178 144 | 915 65 | 1335 40 50 25 | 6-M12X22 | M24XP3.0
YAS-150 185 130 110 45 305 185 151 985 65 | 1405 45 55 25 | 6-M12X20 | M30XP3.5
YAS-200 245 145 120 99 37 | 2085 | 1745 | 122 65 164 60 69 34 | 6-M16X29 | M36XP4.0
YAS-250 314 | 282 160 65 46 | 2525 | 2155 166 65 208 67 85 25 | 6-M12X30 | M42XP3.0

% R4 3 NS 0lnglo] BHEE 4 YUt

% Specificalions are subject o change without rotice.






